25

0

25

0

did

P: SSS—-SSL
(4.2; 3.6)

C: SSS-SSL
(8.3; 7.8)

0.00 0.15 0.30

P: SSL->SLL
(4.1; 3.9)

0.0 0.1 0.2

C: SSL-SLL
(4.0; 3.6)

50

25

0

25

0

P: LSS - SSL
(4.2;4.1)

C: LSS->SSL
(4.8; 4.7)

0.0

0.1 0.2

P: LSL->SLL
(6.9; 6.2)

2

0.0 0.1 0.2

C: LSL-SLL
(4.9; 4.6)

50

25

0

25

0

v
-

P: SLS—> LSL
(6.3; 4.2)

C: SLS—-LSL
(15.9; 12.8)

0.00

0.45

0.90

P: SLL—>LLL
(3.7; 3.1)

0.0 0.1

C:SLL->LLL
(5.3;4.2)

0.2

25

0

50
25
0

=

P: LLS -» LSL
(4.6; 4.6)

C: LLS-LSL
(6.8; 6.5)

0.0 0.1 0.2

P: LLL—-LLL
(5.0; 2.9)

0.0 0.2 0.4

C: LLL->LLL
(4.9; 2.7)




